MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

TWO DIGIT DECIMAL NUMBER 1;?;1: o
21 0.02 x (=0.97) = 36 —7 x (—=0.82) =
220 0.0008 x 0.62 = 1310.0003 x 0.091 =
23 —0.1 % 0.0075 = 19 0.004 x (—0.069) =
20 —0.3 % (=0.7) = )0 x 0.0054 =
29 0.02 x (—98) = 41400 0.005 x 0.43 =
200 0.06 x 81 = uy0.05 x (=97) =
2 0.02 X (—0.68) = 142)(0.001 x 0.017 =
25 0.001 x (—0.043) = 1) —0.008 x (—88) =
1200 —(0.8 x 0.097 = 144) - —(0.0005 x 5.5 =
10 0.006 x (—0.097) = w) —0.003 x (=0.71) =
1)0.0006 x (—=3.1) = “6) 0 x 0.0098 =
1) —7 % 0.73 = w6 x (—0.27) =
153 7 x (=90) = 1) —(0.006 x 6.7 =
B0 x (—0.0043) = 19)0.001 x 0.094 =
55 —0.0006 x 0.083 = 50 6 x (=99) =
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